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6-6 Homework G W

6.6.6 i85 Ouestion Halp ~ TF

Yosterdaty, 2 1ovie hiaters sold 308 tags of popcomn. A large tag Of popaom costs $3, A vnal () of popevn aomts $1 I all, the movie thaater mude $687 from
popoom salas Wrio and foive a system of suations to find how nminy hags of each siza of pepeorn were sold

The movie theater scld |~ | large bags of popearn and | | amail bags of popcom

&-éHomeworkG W

6.6.10 5 Question Hep T

Age 1f you sdd Natalio's age and Frod's age, the resuft ja 39, It you add Fred's age Io 3 timos Natafie’s age, the rasull is 89 Writa and solva & sysiem of aquations
to find how old Fred Bnd Nalalie sro

Fnthmndd.anokDyumw

6-6 Homewntk G

6.6.11 388 Question Help 'D

Estimation The parimetar of a ractangle Is sbout 15.9 em. If you double the widih of the rectangid the pedmater s about 218 om. Find the cimensions of tha
amater rectangle. Round the piven vakies 10 the naarnat intagar. Use the roundad values 10 wnte A salve & system af equatans to find the innglh and iha wasm ol
the rectangle.

Thnlangmbabout[:]anmdlmwmisaboul[jan
{Type whole numbara.}



6.6.5 28 Question Help L2

Al 3 baskelbaHl game, a leam made 59 successtul shots. They were a combination of 1- and 2-painl shols. The team scored 98 points in al Write and soive a
sysiam of equatians 1o find the number of each Type of shol

Theto were [ ] 2-point shota and [0 1-potat shols.

G4 Homewotk G 9°

6.6.19 IES Question Hatp Kt

Challnngs A cac ropair shop chaiguz $1 for inountieg a tre purchased from the shop, The repair shop charges $0 1o mowsning a e 1hat was gaarthised from
Q. 0. Laal month, the total 2hatgas for mosaling lres were $783. The numiber of tires mountsd and puschased from Mo shop was 579 less 4 lines ihg
T esd 3 mounted Hial wers prirchased krom olher shops. Wrile and solva a syskem of equaiions 10 find the number of tirds putchased from e

The shop mounted | | ti

66 HomeworkG W

ﬁ lZ 6.6.16 28 Quostion Holp T

Two wrplanes wro curyioy fosd and medical sopplies toa country ins el Oou alipdane B carrying B8 maals und 54 medical kils. The total cont for the supplies o
nat pirplan is $762. The athar airplane bs camying 76 molls and 54 maccal Mts, Toe teeal cost for the tupplizg oo that aiplana ts $827, Wi asd sotve a nysiom of
equations ¥ find the prics of one maal and the prico of ona mas<al kit, If o third amplane is corrying 70 meais ond 61 medical kits, whal is the jotnl cost of supidies?

The price for ane meal s S ] Tha prica for ona medical kil is (.




brlo ware problem - e mples

6.6.6 1%E Quastion Help 'ﬁ

Yeslerday, movlelhea -ou:soeba popmm baq popwmmllssd smn bag of popcom costa $1 In all, Ihe movie theater made S887 fram
The movie Iheater sckd [ ] targe bags of popeorn nd|_]unaﬂbn of popeom.

12l +S =309
+g,= 209 f+< =309
b‘*ﬂ pag A4S - ygris=b8¥T —|2b -126

e ——— -

quontly 4rls =681 Ty =575 s =63

6.6.10 $88 Question Help Q
i you add Ni nln] .ptmd Fred"s age, the resull s 39. If you sdd Fred's age 1o 3 limas Natalle’s age, the result is 89 Wrile and soive a syaiam of aquations
ndhowoldFrod Nalal
Frud is || yoars oid, Natalie js ] yoars oid.

N+F:3°l a3 St

F+3N =67 — T N= 30 -5 15

6.6.11 = Queation Help ﬁ

Estimation The perimeler of a rectangla is about 15.8 cm. If you double the widih of the rectangle the perimeter Is about 21.8 cm, Find the dimensions of iha
smaller ractangle, Round 1he given values to the nearest Inlager. Use the roundad values (o write and soive a syslem of squations to find the langth and the width of
the rectangle.

mlmmlllhoutljunmdmowidmi:abom[:lun
Iy

o 204w =15
20+ w=15.9 — A0 +4w=A.%

;Q+;M3uD 1.0
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6.6.5

138 Queston Help b

Ala ba etball geme, a team made 59 s uucessmlstyw«eaoombnﬂon i 1- and 2-poinl shols. The team scored 98 points in ad. Write and solve a

syste oqlonlrndenumberfnch!ype shot,

Thera were [_] 2-paint shols and [ ] 1-point shols

tohe  x+y=59

#of s lray=19

n

Two airplane: 1 w v.md medicul yuppiles W a counlry In need. Dne
aquations lmdlhepnu nne meal and the pnce of one medical kil. If a
The prica lor one meal is ${]. Tha price lar ane medical kit is |

Yy K =12
P\,? %)(Co]rv?w LK~ 21

e ——

SO —_ s

[ Zm T b o

|3

$
m= S

P35 10(5)= 2D

/x+§:5q e 59
=98 X 1,59_._)67
¢ -39 -39
— 50, /t‘ L0
(2 point (! pt.
poil o ote)

aliplans is catrying 86 meals ui ndsntmedn:lu The lolal cosl for lhlsupplelm
thet al irplano rplne uanylnpmmolt r\dsdmdlnlkn: Thelo(nleollofholuppﬂmon'udrpl Sa Wm ndlolvcn system of

rd airplans I carrying 70 meals and 61 medical ki tal cost of supﬂln

l(E)FSHK=T02
330 sl --’7‘@2
“230 - 220
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